CornacosaHo

B3am. nHB. Ne

MNopgn. u gata

MHB.Ne noan.

Distribution point 1.1
Ne Name Unit Q-ty
A 1 2 3
1 | Steel pipe for electro-welding 6” meter 4
2 | Steel pipe bend for electric welding 90°x2” Piece 14
Distribution point 1.1
Field 5.9:5.10 3 | Steel flange for electro-welding with internal tread 2" Piece 1
4 | Ball valve 2" FM Piece 1
5 | Air-drain valve 2" Piece 1
6 | Steel flange for electro-welding 6” Piece 13
7 | Shut-off valve 6” Piece 1
8 | Flange-Adapter 4x90mm (pressing for PVC pipes) Piece 9
8 | Coupling PVC adapter with external thread 75x63x2"M Piece 8
9 | PVC tee-joint 160/75mm (adhesive) Piece 5
9 | PVC tee-joint 110/75mm (adhesive) Piece 2
9" | PVC conical adapter 160/110 Piece 1
10 | PVC conical adapter 110/75 Piece 1
10' | PVC pipe bend 90°x75x63mm (adhesive) Piece 1
11 P.\./C c?upling dismountable (American) with a thread Piece 8
2"Mx2"F
12 | Steel pipe for electro-welding 4” meter 4
12 | Steel pipe for electro-welding 2” meter 16
13 | Adapter 2"x4” Piece 8
14 | Steel flange for electro-welding 4” Piece 13
14' | Steel flange for electro-welding 2” Piece 13
15 | Water meter 2” Piece 8
16 | Fire cock 4” with flange connector Piece 8
17 | Head sleeve 'P-100mMM Piece 8
18 | Head pipe plug 3-100mm Piece 8
19 | Irrigation sleeve 4” LAYFLAT meter 80
20 | Start connector tap for hose LAYFLAT Piece 80
21 | Gasket for flanges 6” Piece 12
22 | Gasket for flanges 4” Piece 8
23 | Gasket for flanges 2” Piece 24
24 | PVC pipe 8 ATM 160 mm (bell-mouthed) meter 80
25 | PVC pipe 8 ATM 110 mm (bell-mouthed) meter 40
26 | PVC pipe 8 ATM 75 mm (bell-mouthed) meter 20
27 | PVC clutch 160mm (adhesive) repair Piece 8
28 | Washer gasket 5/8” Piece 290
29 | Nut 5/8” Piece 290
30 | Bolt 5/8” x 80mm Piece 280
31 Bolt 5/8”x 180mm Piece 10
ur
"CucTema kanenbHoro u [oxaesoro opolueHns B A/o LLoprana MektenuHckoro aTpana
Mam. |Kon.yy.| JNuct |Ne gok.| Mognuce | Oata AXNCHOrD BanaRTa"
Cragusi Nuer NMuctos
Wcnontutens | Ocyna 5.0. CucTtema vppuraumm P 9

BboposgakoBbiv nonve

MNone 5.9;5.10

PacnpepenutensHbiv ysen 1.1

(>

VHavBiayansHoe npeanpusTie
"ToHeLwum mepan"

dopmat A2




